N = 0l & At & Ml A

20138 = =& 2 3 LA IIEISEH UAS AL

AN UASAL
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o DUOIE W AHA DS
eelr BEANHIA A P (Sl & &)
SN BB ERI(SH) - MEANY - BES 0] &b 2 p/E-F HIDE2
S At 340,663 357,086 N 16,423
= 19,600 19,600 0
Al 321,063 337,486 N 16,423
NAHE HIHMH A P 167,336 157,636 A 300
= 15,600 15,600 0
Al 141,736 142,036 A 300
QRAMEIA HAH 25 165,536 155,836 A 300
= 156,600 15,600 0
Al 139,936 140,236 A 300
QY JRFA 89,736 90,036 A 300
405 XtatFE SHI 1,500 1,800 A 300
01 Tt EZH 1,500 1,800 A 300
OfRzHEY - 2E 0& 0 1,300 A 1,300
o332 1 oS I AMEAFH P2
1,000, 000& 1,000 0 1,000
A 2 BSMd 124,888 141,070 N 16,182
= 4,000 4,000 0
Al 120,888 137,070 A 16,182
EX 2 106,682 120,864 A 14,182
= 4,000 4,000 0
Al 102,682 116,864 A 14,182
HESAIXI 24 27,505 41,687 A 14,182
201 ¢er24l 17,334 31,516 A 14,182
01 AF22t2l bl 17,334 31,516 A 14,182
OMESAIX 16,704 28,716 A 12,012
- &HE X Ot 2 11,369,000 11,369 13,096 A1, 727
-2 CH SNt BE
33 2,138,000& 2,138 9,240 AT,102
- oAdME =
&% 3,197,000& 3,197 6,380 A 3,183
ORSA&HE It & 2 & 630,000& 630 2,800 A2,170
NEBSE & BSMUHSHE L 18,206 20,206 A 2,000
AHIS22e 15,926 17,926 A 2,000
201 ¢er24l 13,126 15,126 A 2,000
01 At2 22l bl 13,126 15,126 A 2,000
OXNHE=EINE Z & 4,000,000 4,000 6,000 A 2,000
HREs(UAS A 59 0 59
SEXNE (L SAD) 59 0 59
S EES(UASA 59 0 59
802 gt = Il EF 59 0 59
01 =2n2x3eeE= 59 0 59
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